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LOGIC AND PHILOSOPHY
( Theory )

| Full Marks : 100
. Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries 1 mark each : .1><12 = 12
Q. Nos. 2-13 carry 2 marks each : 2x12 = 24
Q. Nos. 14-23 carry 4 marks each : 4x10 = 40
Q. Nos. 24-27 carry 6 marks each : 6x4 = 24

Total = 100
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1. Answer the following as directed : 1x12=12
Sere A etER Ses
(a) Logic is a science.

( Fill in the blank )
SR R B R

( 1 57 et w1 )
(b) Universal n egative proposition is represented by the
symbol oy .
( Fill in the blank )
TN BT I RO B &M 397 23 |
(<13 51 ot 3091 )
(c) Give an example of one-‘Pff‘dicatc general proposition,
c
¢ TS YT B9 61 Sl i |

(d) What is the name of the subject of the conclusion of
a syllogism?

TS Pramy S smbR AN F 2

(e) In a categorical synogism from two particular Propositions /
e) In |
universal propositions no conclusion can be drawn,

( Choose the correct angwer )
P o vy |

oFF S Y51 ROW I / A 59 °RT
e (0% ST 1R Shraqy )

FERIO is a valid mood of the First / Second / Third Figure.
(1) ( Choose the correct answer )
: €IS (34 S |
RIO 2% / fa®m / gom =
- (0% TS0 AR Sdyeqy )
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(g) Every logical connective connects only propositions.
( Fill in the blank )

TOFCH] TH TKATGCIR (P _.__a{sﬂriﬂamﬂm |
(R o AEI )
(h) What is the derivative meaning of the word ‘Philosophy’?
‘Philosophy’ *FI(OH Froifeore o 9
(i) The founder of Yoga philosophy is -
( Fill in the blank )
cast iR aifbTel (TR ! | |
( AR B =@ 1)
() ‘‘Monads are windowless.”” Who said this statement?
PR R, SRR RRFREA 7 @@ IR A
e ?
(k) In Indian philosophy, valid knowledge is known a$
| ( Fill in the blank )

SR e I TS A 2 |
( i o o )
() The different types of Idealism are Idealism,

Idealism and Phenomenalistic Idealism.
( Fill in the blanks )

orad RiEs aeenE T SRAM, SIRAM S
TROIF SRA |
(mﬁlmﬁoﬁqW)

2. State two points of difference between traditional logic and
symbolic logic. 1+1=2
WﬁWW@WWW@ﬂWWW\
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3. Classify proposition according to quantity. )

ool SEPIR I AR 347 |

4. Write two points of difference between sentence and proposition

1+1=2
T AT Iowa A& Qo1 AL

5. Define conjunctive proposition with example. | )

U219 CICS FAES 579 iReR fuw |

6. Write two points of difference between Deductive and Inductive
Inference. - 1+1=2

TSI S SR WIS 01 AN foran |

7. Stétc two rules of conversion. " : 12
ST 751 R w41 |

8. Write the names of two valid moods of the Second Figure, 1+1=2
R e 701 ¢3Y S AW fera |

9. Symbolize the following propositions : 12

weTo fia] I5CHL] AOFPINT oS P 319

(a) It is false that the grass is not green.

43051 e (T =2 CTesm 7=3 |

(b) Either I will go to library or attend the seminar,

2x MR ST TN SR HCEADES Soifdrs ey |
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10. Write the names of two Vedic schools. - 1+1=2
bt G e A oI
11. Give two criticisms of Innate Ideas. 1+1=2

@SS YA o1 G SHATICET |

12. Which of the following statements are true? 1+1=2
o (FCFD! BfE 7T ?

(a) (i) ‘‘Descartes, Locke, Berkeley and Hume are rationalistic
. philosopher. " '

eI a%,aﬁmwﬁmmml”

(ii) ‘‘Descartes, Spinoza, Leibniz and Wolf are rationalistic

philosopher.”
¢TI0, W,WWWWWW "’

(b) (i) “Logic is concerned with mediate knowledge, not with
immediate knowledge.”

“@ﬁwwwm—ﬁﬁr mwm—mn

(i) ‘‘Logic is concerned Wwith immediate knowledge, not

with mediate knowledge.”’
“Wﬁ@mmmm—w@— mwmrml

13. State any two points of difference between Realism and Idealism.
1+1=2

WWWWﬁ@W@@ﬂWWW|

14. Explain the four-fold scheme of proposition. 4
o AR fere o 4 |
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15. Reduce the following sentences into logical form : 2+2=4

T JFPTR SHIGIPTIS I5ae FoleT 3

(a) All that glitters is not gold.
SRAE] SO T G T |

(b) Only intelligent students can pass the examination,

(e T RIQCACACE R #[AF1e T8I 7T 71T |

16. Explain the figure of a syllogism. 4
ES AE I A0

17. Distinguish between subject-predicate proposition and class-
membership proposition. 4

T -R SIS o4 SF CIN-I7A7S] I5-1 Trero N1 el 4y |

18. Reduce any one of the following syllogistic arguments into logical
form and test its validity : 4
ARl TR S R @ B SEREPTS Te R 791 e
T{ gl ety 90

(a) Aristotle was a great logician, since he was a philosopher and
all great logicians are philosophers.
R8’Fe1 qEw TIe SR SR PR (98 G WHF IfRw sy
ST TIe] SHRCR MR |

(b) No kings are poor, but all kings are men, so no men are

poor.

A IO I T, Y AT T W R, W@ ey
v 7= | TR
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19. What is truth function? Explain implicative function by giving

a truth table for it. 242=4
No}-Fed FIE (I ? ) OIfeRPR WROINF 1 IR Fo I
caifl

20. Distinguish between Science and Philosophy.
Rem s g W o1 R w0

21. Write a short note on Epistemology.

@R 31 @H-NNILTE 67FS b1 5 (B By |

22. Write four characteristics of Empiricism.

wRwerRTE BIfR6! (A8 o |

23. Write short notes on : : 2+2=4

Y ot fora
(a) Svarthanumana

KRR

(b) Pararthanumana
I

24. What is a compound proposition? Define each of the different

forms of compound proposition with examples. 2+4=6

QT T T @ ? AP T AR SRR SR Bie
fem 1
Or /#1%1

Define middle term. Discuss its function in categorical syllogism.

2+4=6

crger k@ il | Raeers e W g seemn 4 |
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25. Define syllogism. Describe the characteristics of syllogism. 24+4=6
TS el 741 | S CIRBPIR 90 90 1 |
Or /13T
Discuss Rationalism as a theory of the origin of knowledge.‘ 6

W Seoife P Team 1ot I ogh! e 04 |

26. Discuss the characteristics of symbolic logic. 6
ABIPIF SHRE CIFABPTZ ST 41 |
Or /&1

Construct truth tables for any two of the following propositiona]
forms and find out whether it is tautologous, contradictory or
contingent : 34326

were Al IR ST ~[1 R @Il IR 77 OIerl 1o 31 e
CiRTz FooTe), T (1 wifie T=RMAE ey 3 :

(i) ~pvq
(i) p>(p-q)
(iii) ~ (p-q)

27 . Explain any three characteristics of Indian philosophy. 2x3=6
oo v R (e fefbr ¢afigs s <1 |
Or /AT
How many Pramanas are accepted in Indian philosophy? Discuss
Pratyaksa as a form of Pramana. 1+5=6

SHEY TS (BB AN 2z 91 L= ? AN «bl o R aerws
R Sces= 9 |

* * %k
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